

PROJECT:

ABC Bid Data

STATEWIDE GUARDRAIL REPAIR SOUTH

NON-FEDERAL

44528

Award Date:

Awarded To: CWS SLITER & SONS LLC dba CWS FENCE & GUARDRAIL 261 FRANKLIN ROAD ANDOVER, NH 03216-3810

Amount: \$1,276,275.00 Certified by: WILLIAM.J.OLDENBURG

Director of Project Development

DATE BIDS OPEN: March 07, 2024, 2:00 SCOPE OF WORK:

STATEWIDE GUARDRAIL REPAIR SOUTH

Central, Eastern Turnpikes, I-93 and Rt. 101 guardail repair on as needed

NON-FEDERAL

COMPLETION DATE: December 05, 2025

LOCATION: Merrimack

STATE PROJECT NUMBER: 44528

FED. PROJECT NUMBER:

Summary of Bidders

Contractor	Bid Amount	Rank
CWS SLITER & SONS LLC dba CWS FENCE & GUARDRAIL 261 FRANKLIN ROAD, ANDOVER NH 03216-3810	\$1,276,275.00	А
DELUCCA FENCE COMPANY, INC. 5 OLD FERRY ROAD, METHUEN MA 01844	\$1,319,131.25	В
VERMONT RECREATIONAL SURFACING & FENCING INC PO BOX 147, BARNET VT 05821	\$1,478,842.50	С



ABC Bid Data

STATEWIDE GUARDRAIL REPAIR SOUTH
44528

NON-FEDERAL

				F	PS&E	GUA 261 FRA	S LLC dba CWS FENCE & RDRAIL NKLIN ROAD NH 03216-3810	5 OLD FE	CE COMPANY, INC. CRRY ROAD N, MA 01844
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	2,700.00	\$16.00	\$43,200.00	\$22.00	\$59,400.00	\$21.25	\$57,375.00
606.0031	STEEL BEAM (THRIE BEAM) FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	950.00	\$41.00	\$38,950.00	\$32.00	\$30,400.00	\$40.25	\$38,237.50
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	125.00	\$4,000.00	\$500,000.00	\$4,200.00	\$525,000.00	\$4,400.00	\$550,000.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	24.00	\$4,000.00	\$96,000.00	\$4,200.00	\$100,800.00	\$4,400.00	\$105,600.00
606.1471	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (MASH MID-SPLICE)	U	14.00	\$1,200.00	\$16,800.00	\$1,700.00	\$23,800.00	\$1,175.00	\$16,450.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	8,750.00	\$37.00	\$323,750.00	\$35.00	\$306,250.00	\$33.25	\$290,937.50
606.21203	DOUBLE-FACED BEAM GUARDRAIL (THRIE BEAM) (STEEL POST)	LF	215.00	\$85.00	\$18,275.00	\$75.00	\$16,125.00	\$81.25	\$17,468.75
606.28001	31" DOUBLE FACED W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	750.00	\$50.00	\$37,500.00	\$42.00	\$31,500.00	\$47.25	\$35,437.50
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	500.00	\$6.00	\$3,000.00	\$10.00	\$5,000.00	\$5.25	\$2,625.00
621.31	SINGLE DELINEATOR WITH POST	EA	400.00	\$62.00	\$24,800.00	\$60.00	\$24,000.00	\$60.00	\$24,000.00
621.32	DOUBLE DELINEATOR WITH POST	EA	100.00	\$68.00	\$6,800.00	\$70.00	\$7,000.00	\$65.00	\$6,500.00
692.17	MOBILIZATION - EMERGENCY (GUARDRAIL REPAIR)	U	10.00	\$3,000.00	\$30,000.00	\$2,000.00	\$20,000.00	\$2,500.00	\$25,000.00
692.18	MOBILIZATION - NIGHT (GUARDRAIL REPAIR)	U	10.00	\$2,800.00	\$28,000.00	\$1,000.00	\$10,000.00	\$3,250.00	\$32,500.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	111,000.00	\$1.00	\$111,000.00	\$1.00	\$111,000.00	\$1.00	\$111,000.00
1010.15	FUEL ADJUSTMENT	\$	6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00

Totals: \$1,284,075.00 \$1,276,275.00 \$1,319,131.25

Alt. Totals: \$1,284,075.00 \$1,276,275.00 \$1,319,131.25



ABC Bid Data

STATEWIDE GUARDRAIL REPAIR SOUTH
44528

NON-FEDERAL

										_
				F	PS&E	PO I	IAL SURFACING & FENCING INC BOX 147 T, VT 05821			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	1

Items

606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	2,700.00	\$16.00	\$43,200.00	\$22.00	\$59,400.00	
606.0031	STEEL BEAM (THRIE BEAM) FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	950.00	\$41.00	\$38,950.00	\$46.00	\$43,700.00	
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	125.00	\$4,000.00	\$500,000.00	\$4,850.00	\$606,250.00	
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	24.00	\$4,000.00	\$96,000.00	\$4,850.00	\$116,400.00	
606.1471	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (MASH MID-SPLICE)	U	14.00	\$1,200.00	\$16,800.00	\$1,900.00	\$26,600.00	
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	8,750.00	\$37.00	\$323,750.00	\$40.25	\$352,187.50	
606.21203	DOUBLE-FACED BEAM GUARDRAIL (THRIE BEAM) (STEEL POST)	LF	215.00	\$85.00	\$18,275.00	\$77.00	\$16,555.00	
606.28001	31" DOUBLE FACED W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	750.00	\$50.00	\$37,500.00	\$53.00	\$39,750.00	
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	500.00	\$6.00	\$3,000.00	\$6.00	\$3,000.00	
621.31	SINGLE DELINEATOR WITH POST	EA	400.00	\$62.00	\$24,800.00	\$75.00	\$30,000.00	
621.32	DOUBLE DELINEATOR WITH POST	EA	100.00	\$68.00	\$6,800.00	\$80.00	\$8,000.00	
692.17	MOBILIZATION - EMERGENCY (GUARDRAIL REPAIR)	U	10.00	\$3,000.00	\$30,000.00	\$2,500.00	\$25,000.00	
692.18	MOBILIZATION - NIGHT (GUARDRAIL REPAIR)	U	10.00	\$2,800.00	\$28,000.00	\$3,500.00	\$35,000.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	111,000.00	\$1.00	\$111,000.00	\$1.00	\$111,000.00	
1010.15	FUEL ADJUSTMENT	\$	6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00	

Totals: \$1,284,075.00 \$1,478,842.50 Alt. Totals: \$1,284,075.00 \$1,478,842.50



PS&E Comparison

STATEWIDE GUARDRAIL REPAIR SOUTH 44528 **NON-FEDERAL**

	Description			A-Bidder		PS8	ξ Ε	
Item No.		Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	2,700.00	\$22.00	\$59,400.00	\$16.00	\$43,200.00	\$16,200.00
606.0031	STEEL BEAM (THRIE BEAM) FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	950.00	\$32.00	\$30,400.00	\$41.00	\$38,950.00	(\$8,550.00)
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	125.00	\$4,200.00	\$525,000.00	\$4,000.00	\$500,000.00	\$25,000.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	24.00	\$4,200.00	\$100,800.00	\$4,000.00	\$96,000.00	\$4,800.00
606.1471	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (MASH MID-SPLICE)	U	14.00	\$1,700.00	\$23,800.00	\$1,200.00	\$16,800.00	\$7,000.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	8,750.00	\$35.00	\$306,250.00	\$37.00	\$323,750.00	(\$17,500.00)
606.21203	DOUBLE-FACED BEAM GUARDRAIL (THRIE BEAM) (STEEL POST)	LF	215.00	\$75.00	\$16,125.00	\$85.00	\$18,275.00	(\$2,150.00)
606.28001	31" DOUBLE FACED W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	750.00	\$42.00	\$31,500.00	\$50.00	\$37,500.00	(\$6,000.00)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	500.00	\$10.00	\$5,000.00	\$6.00	\$3,000.00	\$2,000.00
621.31	SINGLE DELINEATOR WITH POST	EA	400.00	\$60.00	\$24,000.00	\$62.00	\$24,800.00	(\$800.00)
621.32	DOUBLE DELINEATOR WITH POST	EA	100.00	\$70.00	\$7,000.00	\$68.00	\$6,800.00	\$200.00
692.17	MOBILIZATION - EMERGENCY (GUARDRAIL REPAIR)	U	10.00	\$2,000.00	\$20,000.00	\$3,000.00	\$30,000.00	(\$10,000.00)

Thursday, March 14, 2024 Page 4 of 5



PS&E Comparison

STATEWIDE GUARDRAIL REPAIR SOUTH

44528

NON-FEDERAL

			A-Bide	der	PS8			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
692.18	MOBILIZATION - NIGHT (GUARDRAIL REPAIR)	U	10.00	\$1,000.00	\$10,000.00	\$2,800.00	\$28,000.00	(\$18,000.00)
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	111,000.00	\$1.00	\$111,000.00	\$1.00	\$111,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00	\$0.00

Total: \$1,276,275.00 \$1,284,075.00 (\$7,800.00)

Thursday, March 14, 2024 Page 5 of 5